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Wt (Vin — Vo) /21 = (Ve — Vour) /23 + Vour [ 24

& V.RA LS
1
Vin— — vout‘24 = — outzsx .
Z1 2124 2324
Vo = 2324 + 2223 + 2123 + 2122
in — Vout

2324
2324

2324 + 2223 + 2123 + 2122
MEHBESRz1 =22 = R,23 = 1/301,24 = 1/302 AT LA

1/820102
1/320102 + R/SC] + R/SCg + R2

= V:)ut = Vin

Vout(s) = Vin(s)

1
Vout(s) = Vin(s) s2C1CR? + s(C1 + C2)R+ 1
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Complex solutions:

s = 336,882
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Complex solutions:

s~ 141.176 ¢
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DA unsigned char xdata DA _at_ 0xf1f0; DA =t
r int A A
k int e Wret #ic
t int A L s AT
w int kA
h int kA B
c Int B Ak Y
X50ms int R A
f unsigned int S
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unsigned char xdata AD _at_ 0xf1f0;

int

int

X50ms int

unsigned int

xdata RAM[61920];
xdata CO _at_ 0xf1f0;
xdata Cl _at_ Oxflfl;
xdata C2 _at_ 0xflf2;
xdata CW _at_ Oxflf3;
xdata PA _at_ Oxflf4;
xdata PB _at_ 0xflf5;
xdata PC _at_ 0xf1f{6;
unsigned char xdata CWh5 _at_ Oxflf7;
shit P1_7 = P1°7;

unsigned int x50ms=1;

unsigned char

unsigned char
unsigned char
unsigned char
unsigned char
unsigned char
unsigned char

unsigned char

unsigned int f,k,c;
int d, s;

char t;
Ccw
Co

0x16; // 8254 Counter() Mode3
2; // Counter( #+#iE& = 2




CW = 0x56; // 8254 Counterl Mode3d

Cl = 6; // Counterl - #iE = 2

CW = 0x96; // 8254 Counterl Mode3d

C2 = 50000/4000; // Counter2 +#ciz = 2
CW55=0x98;

EA=ES=1;

[E=0x90;

P1=1;
ITO=1;
IT1=1;
printf("press z to play \n");
printf("press x to load \n");
printf("press s to stop \n");

while (1) {
1f(s==122){ IE=0x91; printf("compelet %d percent\n", k/620);}
1f(s==120){ IE=0x94; printf("compelet %d percent\n", k/620); }

if(s==115){ IE=0x90; s=0; k=0; printf("compelet %d percent\n", k/620);}
}
}
void TI int(void) interrupt 0
{
P1_7=1;
d = (unsigned int)PA;
P1_7=0;
RAM[k] = d;
k++;
1f(k==61920){IE=0x90; t=1;k=0;}}
void T2 int(void) interrupt 2
{
P1_7=0;
d = (unsigned int)RAM[k];
P1_7=1;
PB = d;kt++;
1f(k==61920){k=0;t=0;IE=0x90; }
}
void MyGetChar(void) interrupt 4
{
if(RI==1)
{s = SBUF;
RI = 0; }
}
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